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EEN BRI hXRERE

% R R - RARSTiE B 2 fifl & ] wm =
EZAEE 2,172,293
HEE 2,172,293 x 77.9% — 4,509 1,687,707
REEEE 2,172,293 + 1,687,707 3, 860, 000
BB R 3, 860, 000
HERSHNE 3,860,000 x 10.00% 386, 000
HEXHE 3,860,000 + 386, 000 4,246,000




BERNRE EEN BRI hXRERE

£ g g - KR B 8 2 B & £ m =

BEEHEE 2,172,293
REEHE 2,172,293
FERAE 2,172,293
TILF E—LBIR 2,093, 893
RIS XEE 535, 520
1 RS %R 1.00 464, 499 464, 499

=
2 HEMIERR 2FEZY) 1.00 71,021 71,021

=
KiEAE 646, 044
3 mER TR 1.00 10,130 10,130

=]
4 BETAL 1.00 607, 720 607, 720

=X
5 TILFE—LAED BRIk 0.03 586, 025 17, 580

km2
6 YILFE—LAZED fEg K5 0.02 530, 739 10,614
km2

BR 912, 329
T SEEER 1.00 912, 329 912, 329

=
EEZE 78, 400
BR 42,000
8 EHEHEM 1.00 42,000 42,000

=




BERNRE

EEN BRI hXRERE
% L] R - BARSTiE Bif % B B ® # wm =
Z 0t 36, 400
9 EIREE 1.00 36, 400 36, 400
=




K& -ET/\vr—2

EENERNREHRRLAE

51
£ AEEE IEEP
% g - KR Bf £ fifl ® B m = # &
B2 FAEHED
A 3.00 45, 700. 00 137,100
pilk=e53:01
A 5. 00 40, 000. 00 200, 000
2 A4
A 4.00 30, 700. 00 122, 800
A EX NV
% 1.00 459, 900. 00 4,599
& F fEZERES - 1. 00 464, 499. 00 464, 499
&5 :2
£ EMIER QEERELY) IEED)
% g - KR Bf £ fifl ® B m = # &
HEMHBE
A 2.00 24, 200. 00 48, 400
Y 2t
H 1.00 21,918.00 21,918 4.70H / 8H
A EX NV
% 1.00 70, 318.00 703
& F 8 - 1.00=% 71,021.00 71, 021
&S :3
&% REENEE 108%Y
% g - KR Bf £ fifl ® B m = # &
pilk=253:07
A 1.00 40, 000. 00 40, 000
2 A4
A 1.00 30, 700. 00 30, 700
AEHF
A 1.00 29, 600. 00 29, 600
A EX NV
% 1.00 100, 300. 00 1,003
& F ¥E8eH : 10.008 10, 130. 00 101, 303




K& -ET/\vr—2

EENERNREHRRLAE

HS5:4
2 BETXH =1
2 [ g - BIRTE v il ) B fis
REEHE 54 kN2 2
=] .00 3,154.00 3,154/2.00H / 8H
B FEHE
A .00 45,700. 00 45,700
I E AR
A .50 40, 000. 00 60, 000
RIS AT
A .50 30, 700. 00 46, 050
REBF
A .00 29, 600. 00 29, 600
BIE M FRP D 70PSE!
=] .00 67, 399. 00 67,399 8H
GNSS:RIfI 2= B DGNSS
=] .00 18, 150. 00 18, 150
TILF E—LTEBIFE 36 ~455kHz
=] .00 331, 650. 00 331, 650
MAH 21K0Y%
% .00 601, 703. 00 6,017
& B 1EZBER - 1.00 607, 720. 00 607, 720




K& -ET/\vr—2

EENERNREHRRLAE

F5:5
ZF : TILFE—LAZED BERAKE 1HHY (0.96km2)
& 73 R - BIRTiE BAf = fili %5 = 5 &
REE 54 kN2 2
=] 1.00 3,154.00 3,154/2.00H / 8H
pelh=s:r) FRP D 70PSZ!
B 1.00 67,399.00 67,399 8H
B2 F A BEm
A 1.00 45, 700. 00 45,700
B S HAm
A 1.00 40, 000. 00 40, 000
B S HAmE
A 1.00 30, 700. 00 30, 700
BIEBF
A 0.50 29, 600. 00 14, 800
GNSSRIfI & DGNSS
=] 1.00 18, 150. 00 18, 150
TILF E—LTEBIFE 36~455kHz
=] 1.00 331, 650. 00 331, 650
HME 2EDY
% 2.00 551, 553. 00 11, 031
= g YE%HEN :0.96km2 586, 025. 00 562, 584




K& -ET/\vr—2

EENERNREHRRLAE

F5:6
% TILFE—LBEQ kK 1HHY (1.06km2)
% £ R - BIRTiE BAf = fili & # W E 5 &
REE 54 kN2 2
=] 1.00 3,154.00 3,154/2.00H / 8H
A= FRP D 70PSZ!
B 1.00 67,399.00 67,399 8H
B2 F A BEm
A 1.00 45, 700. 00 45,700
Bl EHEm
A 1.00 40, 000. 00 40, 000
B EHENE
A 1.00 30, 700. 00 30, 700
RIEBF
A 0.50 29, 600. 00 14, 800
GNSSRIfI & DGNSS
=] 1.00 18, 150. 00 18, 150
TILF E—LTEBIFE 36~455kHz
=] 1.00 331, 650. 00 331, 650
HME EXZNOY)
% 2.00 551, 553. 00 11, 031
= g YEEREN 1.06km2 530, 739. 00 562, 584
&5 :1
B IREEER 1%Ly
% £ I - BIRTE BAf = fili & % W= 5 &
B2 EEBEm
A 4.00 45, 700. 00 182, 800
Bl EHEm
A 10. 30 40, 000. 00 412, 000
B EHEnE
A 9.20 30, 700. 00 282, 440
HME EXZNOY)
% 4.00 877, 240. 00 35, 089
= g 1YE%HEH - 1.00K 912, 329. 00 912, 329




RIER-TEI/\vr— SN SREAE R R E

&5 :8
2 EBHRR 1KLY
2 £ g - BIRTE BT H = B O ® W E 5 &
EBHRRE
= 1.00 42,000. 00 42,000
= it 1YEZHEH - 1.00K 42,000. 00 42,000
F5:9
2 BIAEE 1KLY
2 £ g - BIRTE BT H = B O ® W E 5 &
BIREE E-RYUIHRE
I 1.00 36, 400. 00 36, 400
= it 1YEZHEH - 1.00K 36, 400. 00 36, 400




